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General Instructions :
Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)
)
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This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Sections A, B, C, D and E.

In Section A — Questions no. 1 to 16 are Multiple Choice type questions. Each question
carries 1 mark.

In Section B — Questions no. 17 to 21 are Very Short Answer type questions. Each
question carries 2 marks.

In Section C — Questions no. 22 to 28 are Short Answer type questions. Each question
carries 3 marks.

In Section D — Questions no. 29 and 30 are case study-based questions. Each question
carries 4 marks.

In Section E — Questions no. 31 to 33 are Long Answer type questions. Each question
carries 5 marks.

There is no overall choice given in the question paper. However, an internal choice has
been provided in few questions in all the Sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired candidates.
Use of calculators is not allowed.
You may use the following values of physical constants wherever necessary :
c=3x10%m/s
h= 663 x 10734 Js
e=16x10"17C
Up=4nx 107" TmA™!

g0=8854x 10712 C2 N1 m™
1

47[80

Mass of electron (mg) = 9-1 x 103! kg

=9x10° Nm?C32

Mass of neutron = 1-675 x 1072/ kg

Mass of proton = 1-673 x 10727 kg

023

Avogadro’s number = 6-023 x 1 per gram mole

Boltzmann constant = 1-38 x 10_23 JK_1

3 P.T.O.
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SECTION A
1. The electric field E associated with an electromagnetic wave is represented by
Ey =E sin (kx — ot)
Which of the following statements is correct ?
(A)  The wave is propagating along +x-axis.
(B)  The wave is propagating along +z-axis.

_)
(C)  The magnetic field B of the wave is acting along +y-axis.

_)
(D)  The magnetic field B of the wave is acting along —x-axis.

2. A capacitor of 5 pF is connected to an ac source of 200 V, — Hz through a

resistor of 100 Q. The phase difference between the voltage (V) applied and

current (I) is :

(A) 120° (B) 90° (C) 60° (D) 45°
3. m, m, and m, represents masses of ZX nucleus, a neutron and a proton,
respectively. Then :
(A) m<(A—Z)mn+Zmp (B) m=(A—Z)mn+Zmp
© m=(A—Z)mp+Zmn (D) m>(A—Z)mn+Zmp
4. A rod PQ of resistance R lies across frictionless conducting rails in a constant

uniform magnetic field B , as shown in the figure. Assuming that the rails have

negligible resistance, the force required to pull the rod to the right at constant
. T

velocity v is:

P
|
© OO0 0O Ol |
L —> ¥
O O O Ol
|
X Q
(A) 0 (B) Blv
Blv B2/%y
©) R (D) R
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5. When a ferromagnetic substance is heated to a temperature above its Curie
temperature, it will :

(A)  behave like a diamagnetic material.
(B)  behave like a paramagnetic material.
(C)  permanently demagnetise.

(D)  remain a ferromagnetic.

6. A point object is placed in air at a distance of 4R on the principal axis of a convex

spherical surface of radius of curvature R separating two mediums, air and glass.

As the object is moved towards the surface, the image formed is :
(A) always real

(B)  always virtual

(C) first virtual and then real

(D) firstreal and then virtual

7. A current of 5 A is flowing in a wire of length 1.5 cm. A force of 7.5 mN acts on

it when it is placed in a uniform magnetic field of 0.2 T. The angle between the

magnetic field and the direction of current is :
(A) 30° (B) 45° (©) 60° (D) 90°

8. Two particles A and B of the same mass but having charges q and 4q respectively,

are accelerated from rest through different potential differences V 5, and Vg such

\Y%
that they attain same kinetic energies. The value of [V_Aj is :
B

1 1
GYR B - © 2 (D) 4
4 2
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9. Which of the following statements is correct for alpha particle scattering
experiment ?
(A)  For angle of scattering 0 ~ 0, the impact parameter is small.
(B)  For angle of scattering 6 = &, the impact parameter is large.
(C)  The number of alpha particles undergoing head-on collision is small.

(D)  The experiment provides an estimate of the upper limit to the size of target

atom.

10.  Which one of the given graphs correctly represents the variation of photoelectric

current with the intensity of incident radiation, keeping other parameters fixed ?
Current Current

(A) (B)
| Intensity | > Intensity

Current Current

© (D)
| Intensity | Intensity

11.  When intrinsic silicon semiconductor is doped with Al atom, then it :
(A)  decreases the number of holes in the conduction band.
(B)  increases the number of holes in the valence band.
(C)  increases the energy gap value.

(D) increases the number of electrons in the valence band.

12. Two cells of emf 2 V and 3 V, and internal resistance 1 Q2 and 2 Q, respectively

are connected in parallel. The effective emf and internal resistance of the

combination cell are respectively :

(A) 3V,10 B) 5V,30Q
7 2 6 2
©) §V, 3 Q (D) gV, 3 @
55/S/3 9 P.T.O.
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Questions number 13 to 16 are Assertion (A) and Reason (R) type questions. Two
statements are given — one labelled Assertion (A) and the other labelled Reason (R).
Select the correct answer from the codes (A), (B), (C) and (D) as given below.

13.

14.

15.

16.

17.

18.

55/S/3

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Both Assertion (A) and Reason (R) are false.
Assertion (A) :  Although the surfaces of a goggle lens are curved, it does not

have any power.

Reason (R) : In case of goggles, both the curved surfaces are curved on the

same side and have equal radii of curvature.
Assertion (4) :  The current density (J ) at a point in a conducting wire is in the

%
direction of electric field (E ) at that point.
Reason (R) : A conducting wire obeys Ohm’s law.

Assertion (A) :  Nuclear fission reactions are responsible for energy generation in

the Sun.

Reason (R) : Light nuclei fuse together in the nuclear fission reactions.

Assertion (A) :  The torque acting on a current carrying coil is maximum when it

is suspended in a radial magnetic field.

Reason (R) : The torque tends to rotate the coil on its own axis.

SECTION B

Explain the terms depletion layer and potential barrier for a junction diode and

their formation. 2

An electron is passing through a region and experiences no force. Under what
condition is it possible when the region has (a) only the magnetic field, and

(b) both the electric and the magnetic fields ? Justify your answers. 2
11 P.T.O.
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19.

20.

21.

22,
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19. (a) A cell is connected across an external resistance 12 Q and supplies 0.25 A

current. When the external resistance is increased by 4 Q, the current
reduces to 0.2 A. Calculate (1) the emf, and (i1) the internal resistance, of
the cell. 2
OR
(b) Two point charges of 3 uC and 4 puC are kept in air at (0-3 m, 0) and
(0, 0.3 m) in x-y plane. Find the magnitude and direction of the net electric
field produced at the origin (0, 0). 2
20. A point light source rests on the bottom of a bucket filled with a liquid of
refractive index p = 1.25 up to height of 10 cm. Calculate :
(a) the critical angle for liquid-air interface
(b)  radius of circular light patch formed on the surface by light emerging from
the source. 2
21.  State Huygens principle. Using it draw a diagram showing the details of passage

of a plane wave from a denser into a rarer medium. 2

SECTION C

22.  (a) The radius of a conducting wire AB uniformly decreases from its one end

A to another end B. It is connected across a battery. How will (i) electric
field, (ii) current density, and (iii) mobility of electrons change from end A

to end B ? Justify your answer in each case. 3
OR

(b)  Two large plane sheets P; and P, having charge densities + ¢ and -~ 3 o

respectively are arranged parallel to each other as shown in the figure. Find

%
the net electric field (E ) at points A, B and C. 3
| P,
J
A A B C
g r 2r T 2t
+ & ~30c
55/S/3 13 P.T.O.
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23.  Two point charges of 10 uC and 20 pC are located at points (— 4 cm, 0, 0) and

(5 cm, 0, 0) respectively, in a region with electric field E = EX where
r

A =2 x 106 NC*!' m2 and Tis the position vector of the point under

consideration. Calculate the electrostatic potential energy of the system. 3

24.  Explain the following, giving proper reason : 3

(a) During charging of a capacitor, displacement current exists in the
capacitor. But there is no displacement current when it gets fully charged.

(b)  The frequency of microwaves in ovens matches with the resonant
frequency of water molecules.

(©) Infrared waves are also known as heat waves.

25.  Radiations of frequency 3.0 x 1013 Hz are incident on a photosensitive surface of
threshold frequency 1.0 x 1015 Hz. Calculate 3

(a) work function of the surface

(b)  maximum kinetic energy of photoelectrons

2

26. A small circular loop of area 6 cm~ is placed inside a long solenoid at its centre

s

such that its axis makes an angle of 60° with the axis of the solenoid. The number
of turns per cm is 10 in the solenoid. The current in the solenoid changes

uniformly from 5 A to zero in 10 ms. Calculate the emf induced in the loop. 3

27.  An ideal resistor R, an ideal inductor L and an ideal capacitor C are connected,

one by one, across the same source of ac voltage v = v, sin wt. It is observed that

the same current I flows in each case.

(a) What will be the instantaneous value of current that will flow through their
series combination when connected across the same source ?

(b)  How will the current in each case be affected if the frequency of the source
is increased ?

Justify your answers. 3

28. (a) Draw the shape of intensity distribution curve of the fringes due to
diffraction at a single slit.

(b)  Derive the relation for the power of combination of two lenses placed in
contact co-axially. 3

55/S/3 15 P.T.O.
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()  few T uitae § siq-am/8 soa HeR/SmeRT 2 i
0 02
™~ ™~
(€ =ov 3
B1 32
(A) I B, (B) a9 B,
(C) B 3R B,aHl (D) FdIB, RAEB,
() (a) 3T H Uil fewer aftaer aiian @ | la qdmey | wfr e
D, FAEER : 1
V. AV

N % -0
N R VO
|/|D2
(A) A,D B) A,C
(C) B,D (D) B,C
e
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SECTION D

Questions number 29 and 30 are case study-based questions. Read the following paragraphs

and answer the questions that follow.

29.  The process of converting ac into dc is called rectification and the device used is

called a rectifier. When ac signal is fed to a junction diode during positive half

cycle, the diode is forward biased and current flows through it. During the

negative half cycle, the diode is reverse biased and it does not conduct. Thus the

ac signal is rectified. The p-n junction diodes can be used as half-wave and

full-wave rectifiers.

(1) Which bulb/bulbs will glow in the given circuit ? 1
P e
™~ ™~
G = 3
B, B,
(A) Bjonly (B) B, only
(C) Both B and B, (D) Neither B nor B,
(1) (a) A full-wave rectifier circuit is shown in the figure. The contribution
in output waveform from junction diode D is : 1
V.
1
D
N
L1
N\
Vv < ° t
oo ©
N A%
I/ID R 0
2 o
(A) AD B) A,C
(C) B,D (D) B,C
OR
55/S/3 17 P.T.O.
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(b)  Torel stdf-ai feperr a1 ffa g @ I
(A) o 3ftfert o1 wanfefyrn (B) TRt TR wad
(C) 3fifert & Ty Tt (D) TRt SR Fad

(il))  p-n |l SATE H p-Heteh T IR n-FeTeh T TGEHEIF SO FHHT: BIA 1 : 1
(A) SAFRM, TAFH (B) 3IAEH, BIA
(©) @a,7a (D)  &Ied, SHEH

(iv)  Afe Tedqir femeprlt 1 A 50 Hz 8, dF qul-ad femeprd st s g - 1
(A) 25Hz (B) 50 Hz

(C) 100 Hz (D) 200 Hz

30.  fayat 1, =R o7 S & stoEt qreehi, stfiremefirn foevar Tk fage stmept €
€, S wfesr afvwEt € | o9 gl g gufeRd &1 WA ST st strers forega fga =1
fmior d €, eI I3 awETe! o1 reh fGyd Wity =eer w ¢ | T
T8 STo =R AR ferea-ar Seq=1 = € | Forelt ey ferega-gor o ferq forg ST W
forea faya sreT-STmeo o ST FA & |

(i) < e fogd fogat =i, (S geds foga gt d grn gorfsra 3t sframmi - g 3k
+ q ¥ ST €, x-y qe1 § 39 Foh sHARed foham € foh 5o RoTmelet 7e-forg
O T € T SATaIST shHRT: forgat (d, 0) A (0, d) W fbor & | 5 T =1 et

foga sl 2 1
(A —qd(i+]) B) qd(i+7)
© qd(i-7) D) qd(j-1)

55/S/3 18
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(b) The output in a half-wave rectifier is : 1
(A) unidirectional without ripple (B) steady and continuous

(C)  unidirectional with ripple (D) steady but discontinuous

(i) In a p-n junction diode, the majority charge carriers on p-side and on

n-side are, respectively : 1
(A) electrons, electrons (B) electrons, holes
(C)  holes, holes (D) holes, electrons

(iv)  If the frequency of the half-wave rectifier is 50 Hz, the frequency of

full-wave rectifier is : 1
(A) 25Hz (B) 50Hz
(©) 100 Hz (D) 200 Hz

30.  Dipoles, whether electric or magnetic, are characterised by their dipole moments,
which are vector quantities. Two equal and opposite charges separated by a small
distance constitute an electric dipole, while a current carrying loop behaves as a
magnetic dipole. Electric dipoles create electric fields around them. Electric

dipoles experience a torque when placed in an external electric field.

(1) Two identical electric dipoles, each consisting of charges —q and +q
separated by distance d, are arranged in x-y plane such that their negative

charges lie at the origin O and positive charges lie at points (d, 0) and

(0, d) respectively. The net dipole moment of the system is : 1
A A ALA
(A)  —qd(i+]) B) qd(i+j)
A AA
©  qd(i-j) (D) qd(j-1)
55/S/3 19 P.T.O.
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(i) 2a T @ qufhd T — q 3 + q A % a4 Forelt fgga o wror g0
r (>>a) % (1) Torell foreg ST 3aeh 37e1 ot feerd €, T (2) foreft foreg St feregerclar

qa T a2, T forera-& & afemr s B, STRE, 8 | a9 (ﬂj g 1
)
1 1
A - B) - ©) 2 (D) 4
4 2

(iii) 5.0 x 1078 Cm feggar 1ot o1 s, foreg g foreft Q@ wrowr o & et foreft
i T &7or vt Farere- 8 BT AT 1.0 x 103 N/C # | 39 &0 W frema E
EQRECCICIEU ?ﬁ@aw%lwwfi{gawmﬁfww-amﬁwqﬁmw

?: 1
(A) 2.5x10 Nm (B) 5.0 x 10> Nm
(C) 1.0x10"*Nm (D) 2.0 x 10~ °Nm

(iv) ()  ETSSISH YY) H IS FAHH [hel TS o = AR A1 v § B ¢
1 FATHTL HadT H TRGHAT L T8 @ | 3 SoIag o Frarehrd fgfd Tt

T URHTTR 1
(A) devr (B) 2evr

1 1
(C) —evr (D) —evr

2 4

JrraT
(b) ST 5.0 cm % IHR IR & 2.0 A hiT 91T JaTfea & & & | 390 omer §
el Trershia fagga STt ot qiEm 2 - 1
(A)  1.0x 1073 Am? (B) 5.0 x 1073 Am?
(C) 1.0x 102 Am? (D) 5.0 x 1072 Am?
55/S/3 20
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(i)  E; and E, are magnitudes of electric field due to a dipole, consisting of
charges —q and +q separated by distance 2a, at points r (>> a) (1) on its

E
axis, and (2) on equatorial plane, respectively. Then E—l is : 1
2

1 1
A - B) - ©) 2 (D) 4
4 2

(iii)  An electric dipole of dipole moment 5.0 x 10~8 Cm is placed in a region

where an electric field of magnitude 1.0 x 103 N/C acts at a given instant.
_>
At that instant the electric field E 1is inclined at an angle of 30° to dipole

%
moment P . The magnitude of torque acting on the dipole, at that instant

1S : 1
(A) 2.5x10 Nm (B) 5.0 x 10> Nm
(C) 1.0x10"4Nm (D) 2.0x10"%Nm

(1v) (a) An electron is revolving with speed v around the proton in a
hydrogen atom, in a circular orbit of radius r. The magnitude of

magnetic dipole moment of the electron is : 1
(A) 4devr (B) 2evr
1 1
(C) —evr (D) — evr
2 4
OR

(b) A square loop of side 5.0 cm carries a current of 2.0 A. The

magnitude of magnetic dipole moment associated with the loop is : 1
(A)  1.0x 1073 Am? (B) 5.0 x 1073 Am?
(C) 1.0x102Am? (D) 5.0 x 1072 Am?

55/S/3 21 P.T.O.
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Qs

3. () (i) Fwifha @ FI gedr A Rt ac i i wrifafy i e
Fife | forelt &1or «* W T o ar st (emf) & forw =i ymw Hifsw |

(i) oIS ora, Hiem &fas R XX for @ ® 997 399 3.0 A 9N veed
W | A § i STER 39 R X'X % U IS SRR 9w
MNPS, el ofsit 2l walTg 10 cm & o7 fS6@ 1.0 A 9 Yerrfed &

W R, W@ 2 | 39 IR & HRU IR T A T 42 Jrehid ot i
geaTor S e sma ifsre | 5

X« 3A

<
N
=

S

>\(

1

AYAT

b) () S % foa-greeh ST o e 1 IeeE AN quT o o R
T YA TR | forelt puselt & T-Sehed o foTq 3ush! SaTfidta
HTET AT HTEHH i FIehTerdT o Yal H ssfeh ITH shifelg |

(i)  ToEt 220 v 1 afEdt straf ol ac TR % | 2l § € 20 Q F
i, 80 pF ST HETIGT TT 50 mH T ST AN © | ST SATfd Al
AR 39 aiy fi g (IFGER) AR F TR 2, qT aiEhiord

o ;

(1) S S rofrer st

(2)  ufway i afqerer 5
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SECTIONE

31. (a) (1) With the help of a labelled diagram, explain the working of an ac
generator. Obtain the expression for the emf induced at an instant
‘1.
(ii)) A long, straight horizontal wire X'X is held stationary and carries a
current of 3.0 A. A square loop MNPS of side 10 cm, carrying a
current of 1.0 A is kept near the wire X'X as shown in the figure.

Find the magnitude and direction of the net magnetic force acting

on the loop due to the wire. 5
y 3A
X — 7 X
I

>\(

1
OR

(b) (1) State Faraday’s law of electromagnetic induction and mention the
utility of Lenz’s law. Obtain an expression for self-inductance of a

coil in terms of its geometry and permeability of the medium.

(1) A resistance of 20 Q, a capacitance of 80 pF and an inductor of
50 mH are connected in series. This combination is connected
across a 220 V ac supply of variable frequency. When the
frequency of supply equals the natural frequency of the circuit,

calculate :
(1)  angular frequency of supply

(2)  impedance of the circuit 5

55/S/3 23 P.T.O.
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3. (a) () Tonel @iiciis Ul o Srfiigsh QT AT A ol SATeheuT HXd
Go foh &1 9 STl shi A1 | 1@ a1 8 2 fohelt el shi SAmeeiT
T o foru 3T furfa o =iees umw Fifsie sie dfam afdafers sma ©
TAATR |

(i) hIS SehTRT Tortur forell ErwtaTg FrgsiTenit fisw o Ue Weteh T 45° o =hi0T
T AT SRt & ST fSrsm & wmfiraa: Tor SiTeft 2 | uftewfora i
(1) TS0 50 Sea fermrer ot
2) o0 % ueref 1 "adais 5

HAYAT

b) () UhA 30 & foada Gt & Y & foru TRt et fohameeta st aofq
I |

(i) = o TTT @ | ST HTHR g G o (T 1.50) foreft
HHTA FUT o sk O ToRe! SoT shT 0 o | e W 1T © | IS SISt U3
TSTahT A1k o o e 3787 W 2, 3T& o ST FuL-A=! Tl U 39
YT FHTAISA sht STt @ fo FS 6T 1ok o1 Ieer whiforr g3 st feuf
TE S | T ¥ g3 AT g A W 45.0 em TS ST § | S 5 HB
FTHL 4T SRINT Sh QeI foFaT ST €, 1 7% 38 30.0 cm TS ST & | 59
T TSI JTd hITSIT | 5

P —

',///,II'IIII" "III,/M
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32. (a) (1) What are the two main considerations for designing the objective
and eyepiece lenses of an astronomical telescope ? Obtain the
expression for magnifying power of the telescope when the final

image is formed at infinity.

(i1) A ray of light is incident at an angle of 45° at one face of an
equilateral triangular prism and passes symmetrically through the

prism. Calculate :

(1)  the angle of deviation produced by the prism

(2) the refractive index of the material of the prism 5
OR
(b) (1) Describe a simple activity to observe diffraction pattern due to a

single slit.

(i)  The figure below shows an equiconvex lens (of refractive index
1.50) in contact with a liquid layer on top of a plane mirror. A small
needle with its tip on the principal axis is moved along the axis
until its inverted image is found at the position of the needle. The
distance of the needle from the lens is measured to be 45.0 cm.
When the liquid is removed and the experiment is repeated, the new

distance is 30.0 cm. Find the refractive index of the liquid. 5

P

',////IIIIII" 'III’I/%
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33. (@@ (@)
(i)
b ®
(i)
55/S/3

Get More Learning Materials Here :

5o T e hEd & 2 FoIWI m q9T A q & fRET o St TRt
fovaTar v gr0 form @ <ot o TR 2 | 39 0T § Helg @ St
qareed o fou =2isieh g iy |

3315 mW Fid oIk o forelt @10 510 5.0 x 1014 Hz o &
Tehauil ThTST Scq—T foram T B | Iitenferd shifsra

(1) 39 ThIRT G- H WBIEH &l Sl

(2) G R Ifd TehUE ScafSid Wil shl T

AT

I o AR T Secie hITSTY TAT BTFEISH AT o S o Higed §
nll SHETT % FAFLM 1 Holl oh A STk Feq= shioIg |

2 o i pfrerai st gt 1 (MeV ) wiher R |
ﬁ'EITTI'QT%:

m ( 1gC) =12.000000 u

(l)n 1.008665 u

m
m

—_

H) =1.007825u
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33. (a) (1) What are matter waves ? A particle of mass m and charge q is
accelerated from rest through a potential difference V. Obtain an
expression for de Broglie wavelength associated with the particle.

(i)  Monochromatic light of frequency 5.0 x 1014 Hz is produced by a
source of power output 3.315 mW. Calculate :

(1) energy of the photon in the beam

(2)  number of photons emitted per second by the source 5
OR
(b) (1) State Bohr’s postulates and derive an expression for the energy of

electron in nth orbit in Bohr’s model of hydrogen atom.
.. T . 12
(i1)  Calculate binding energy per nucleon (in MeV) of 6C . 5

Given :

m ( 1éC) =12.000000 u

m ( (l)n) — 1.008665 u

1
m ( 1H) =1.007825u

55/S/3 27
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2024
SUBJECT NAME PHYSICS [PAPER CODE 55/S/3]
General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them. In class-
X, while evaluating two competency-based questions, please try to understand given
answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. If there is any variation, the same should be zero after delibration
and discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

6 Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS X" be
marked. Evaluators will not put right (v)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
9 If a student has attempted an extra question, answer of the question deserving more marks

should be retained and the other answer scored out with a note “Extra Question”.
10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 0-70 (example O to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per
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day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME: PHYSICS(042)
Code: 55/S/3

Q. No. VALUE POINTS/EXPECTED ANSWERS Marks | Total
Marks
SECTION A
1. (A) T +X- 3787 & 3FIfeer HEROT aX Wl © |- 1 1
(D) 45° 1 1
(A) M <(A-2Z)m +Zm, 1 1
B%l%v
4. 0) R 1 1
5. (B) 3eTFeiehIa YT T Hifl TR HT | 1 1
6. (D) Ugel arEdides 3R T T deTcr g |. 1 1
7. (A) 30° 1 1
8. (D)4 1 1
o (C) 9cTeT (HFHE) Hue H¥el dlel Vol Ul Sl HEIT FHH glcll . .
' 2l
(C)arr
10. I / 1 1
—_—
GIEGL
11. (B) TATSTohdl SUS H gl ol TE&AT §¢ SIdl ¢ | 1 1
12. © gv,gg 1 1
13 (A) HTAFUA(A)INR FHROT (R)el=T Tl & AR HROT 3AFUT (A) . .

T TET UTEAT FIAT ¢ |

(B) 31fAhUsT (A) 3R &HRUT (R) @&l €& § W] HROT (R)
HAFYUA (A) T FEI ATEAT G HAT & |

15. (D) 3fAFYUT (A) 3R FROT (R) =t & eI & | 1 1
(B) 31fAHUsT (A) 3R &RT (R) alal | § Wed HRIT (R)

14.

o HIARAA (A) T HET SATEAT &N T ¢ | . .
SECTION B
17.
J fow arv uer fir FATor afead sarear
gl TR 1
AT fasa 1
. p-n T & fAAToT & 3afr F qUT p-van- Helh F .

fART 9 AlgaT IGuTaT & HROT glel p-Heldh n-Heldh T 3R
foaRa gid § foas &R a8 39a 9 ege 3mafaa

1
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ITET (FOMALT) B Sd ¢ 30 YR T & p-Helsd W
FOMALA FT ( IT FHUMcHS TWH-dTeT 87 ) Th R Ahiad
gl ST § St foreder gt § | 397 YR n- Heled WX
gAY T R AR AT & St § | Ig T0F °rer a7 a9
& aldl 3R ARfAdT giar & | Ef & gl Berenl fasfad
=g T d1eT &1F &l gl T Fed ¢ |
o TR F n- Bedh W UollcHd T I &7 & T & B
W FS NG RFRd & oiar § e R 3rear 1 ,
fasg gk Fgd § |
18.
A foT 910 gauit 7 soaelT W S gd IR 78T @ &
o o
(2) ST Shao grEaehg &1F § AR giveanor Vs +1/5
(b) ST e va graehg &7 alal ¢ 3R giSeaor %+
() ST IS Felerclel ohdl Faehd &7 H &7 & FATAL I BT
¢ 9 3 W PS T AT 91T ¢ |
. 7
F =qvBsinéd
3. F =0, 5q 0=0,0=180°
%
(b) ¥ T T BT § IS FoFCIA AT & TS AT & AR
fega dur Jrahr & & HIAd & & a1fd Far § | 7
m€+EB=O 1/2
v:E 2
B
19 (a)
(i) T & emf T IRl 1
(i) el & AHTaRe gfa’ier 1 gkl 1
| . &
© R+r
&
0B=pr T @ &
&
0'2:16+r ——————— (2) 1
THIEIOT (1) AUT ) FT T FeA T

2
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sini, =

21.
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o 3G GidgaT 1
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22.
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3dr

fag3it A B3R CW faegd &iF  ATd el 1+1+1

fog A wﬁaa?ra%—ar(

Y2

E, =E +E,
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(el
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- - - 1
E =E +E, 72
G A
2e, 2¢,
O a
= —(-1) 1
0 2 3
23.
e 1 PR dega Eafast Fei 3
U kqlqz ——=+0qV, +0q,V, 1
12
ka,q, :9><109 x10x107° x20x10°° 0] 1
P 9x107
A  10x10°x2x10°
QVv,=0¢,— = - =500J 1y
r 4><71(I5.O 6 "
aV, =a, é _ 20x10 ><_22><10 —800]
r, 5x10
U = (20+500+800)J 1
U =1320J 72 3
24.
$RUT Afgd A& 1+1+1
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: doe 1
@' = “Tqr

Rl faegcFelerd & HROT faEATTT URT 3cUee Bl B
FuRT &1 AT R FH7 Aegcrerrd # aRade giar &l
HUTRA o qUI: AR g W fdegcroedd # &S qRdce oIgl
YT & | 3 ATuue ORT 3cdeet g B
(b)ATSshIad 3lae H FeH el & g HT TIT 57 FhR
fohar Siram § 7 a8 Ster & 3703 hr 3iefAre g & fAeme Y
dlieh oRE & Siel & UL ol ITTctsT il T FeATET EATATAROT &1
3R g7 AT9H i & el

(C)3TaEFd dial I FSHIAER & S HT HROT Ig & &
3rfereprer geref & 3ufPUA Stel & 310 e oA @l aRi™T 3
N od ¢ fSaF oreawy 3 ardy aifd A gefer g el gl 1

25.
afafaa &1 aRead

(a) FTIBTT 11
OEIPEGLEIGERES 1%

(@) ¢=hv, &
=6.63x10"% x1.0x10'° &
=6.63x107°)
_4.14eV s
(b) KE,. =h(v—v,) v
—6.63x10"*[3.0 10%° —1.0x10"] i

=13.26x 107%°) Yy 3
=8.29eV

26.
T2l & IRT emf &1 GRSl 3

de Yo

dt
— i( BAc0s0) % —
dt

:%(,uonlAcose)

di
gl =| pynAcosd.—
g (”0 dtj 1
-7 6 -4 0 5
|| = 471077 x1000x — x10"* x c0s 60° e 1
T
=6x10"° V Yo 3

6
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217.

(a) AU TITSTA H YRT T dlcaT0Ih AT ATd el 1%
(b) URT TR TR T T AR IHebT Gieeahior 1%

vV_ V, sin awt Yo
z \/Rz"‘(xl__xc)z
ac dleedl & AT g & v I yao & aRT gA=T &

(a) Current, I=

R=X, =X, Y
s L, RIuTC Ao & gAfog § a«
Z=R
V, .
3 I:Esmcot 1,

(b) Tfe BT T ITgRT A gefr i STl § o ey TR aRay
A U FAE EA B 5 HROT Tg § B N gl @a B w
3T R AR TE A ¥ |

el 3R Wi T IR A gef el W ey RRT gRuy &

URT TedY ¥ Fifr LY

|o<:1
Ha: v &
G T IMGRT 7 g i W Yy FuUIRT aRuy & 4rT F efyr
1
g & aifs X 1 3
| ocv
28.
(a) radr faaor ask diger 1

(b) & oGl & HAST T &TAA & TIT HIY FGcoed HAT 2

(a)

Y LI
7_.11".-]-
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(b)

L [ I
TR, "
Ug ol A GaRT Yidfess §efel & foT
1 1 1
———=— -———@
v, u f Yo
@ o B cart gfafars eia & faw
1 1 1
= --——(2)
v v, f,
HHOT (1) 3R (2) T JNT A W
111,10
v u f f &

gie & Gl & fAhry & fhdl Tehel ol & Jed AT ST o 30
qed ol & Bihd gl f

111 (8
v u f
HHRIOT (3)3IR (4) ¥
1 1.1
ff f
p_1
Reg |
3_FI.:F’:F’1+F’2 1
3
SECTION - D
29 1 (i) (A) By only 1
(@ | () B®AC 1
3aar
(b) | (C) 3T & AT TH RE
(iii) (D) 8T, ST !
(iv) (C) 100 Hz 1 4
(i) (C) 2
(iii) (A) 2.5 x 10° Nm 1
1 1
@ v © 2°
OR
(b) ®) 5.0x103Am? .
SECTION -E
8
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31. (a)

(i) ac ST AHRT 3IN@

ac SifeFhr wr fafr

emf & AT Toa UIcd Hial

(i)  &of &7 gR#AT IR Ger AT T

N PR

AT el
O

a.c Jfa7 Fr &7 Ay

o R el @1 el v wae dedh & A el T o
Ul O Ui o STem § A 38 IoRe alel gaehld Folrd H
aRade gl § TS e heled®d 38 $sell # IS emf IR giell &

forell &1o7 + WX Fzell F Ty ForFH

@; = BAcosat
g = —Ndﬂ
dt

¢ = NBAwsinwt

iyt =
qrer r

_ Lol 1

27r
S MN 9X el
47 x107 x3x1x10x1072

F =
F =

Ig §
arer iy

F,
FZ

27x20x107?
3x107 N
AR A T A AR R B
el SP 9 §ef
47 %107 x3x1x10x107?

27 x30x107
2x107 N

Yo

Ya

Yo

Ya

9
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Jg g dR 1 3R RF &

Y
F = Fl - F2 = 10_7 N 2

a1l W A el
gl W A o dR § g & 3R fe & | "
372t
®) (i) e greehrd WROT & fAFd &1 Fuad Y
ool & TgH &1 39rer Ye
TIWcd & ToIU choleh Yo el 2
(ii) (1) rofr 3mgfa TR e 1
(2) aRTer &1 gfderear aReeferd e 1

o et aRuy & IRT emf &1 IRAOT ARG F TR Tl
YIhg Folrd # TR T &7 & SR gl ¢ |

. éﬁ%ﬁ'&ﬂﬂﬂﬂ-ﬂ?%emfﬁ%ﬁwﬁaﬁa
T § |

o 3ITIUEY FIC &FAhA A, TS / TUT i Tehieh ofFaTS 1
W arell frdT oot aReTforer W faar fifed afe s
aREATfeehr & GRT/ Jarfed g W@ ¢ o IReTae & iR
ECLIRIE]

B = unl Yy

AREATTART & T Fol IShIT Folehd

Ngy = (n)(14,n1)(A)

Y2

Yo

Np, = yonzAll 1y
TaUhed
L= New "
|
L = yn°Al
ofy AR & SR M g e A S aard |
U C
L = pun°Al
(i) (1) 3T Hofig 3mgfa )
1 1
w, = F
w, = ! = 500 rads™
J50x10 % x80x10° Yy
(2) St 3mqfet g a9y fY 7T g F TR g, d9
gfaarer = gfaRrer

10

Get More Learning Materials Here : & m @&\ www.studentbro.in



Yo
Yo

32.(a)

(i) HIAGSh TUT AT ol T HTHFoTAT i
Y AR ¥ A9y &) A& &1d 1
gqelleT I JTatiel &THT & foIT Sdsfeh IIed el 2
(i) aReFer
(1) 9=H garT faeled ST T Iikeheled 1
2) Bs"7 & 9erd F1 39adais &1 IR 1

ar fearei fqeg ard
IffqeEw & fav

1. HOhdH =ad

2. JfORdH BIhE gl
Afer AT ow & v

1. (_"PCE_I; <gry
2. o Bl
——
— £
> ——f\ Sl
[ | [
| | L
Bt . B [E - et
|I |__‘L*_"‘-:—3Et L/ > %
| | By, L
ey RN

fre e & 3mads AT (m)fAfers garT A7 W aRkda
HIOT AU f9F e @RT A7 W ( 37YAT o F W ) 3R ST ah
3dTel o SRR @il ¢ |

S Bt

P 0o__0
a f, h f

(i) i+e=D+A

at D=D, , i=¢e
2i=D, +A

2 x45 =D, +60°

D, =30°

Yo

Y2

11
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(b)

3dar

(i) T B & FROT e fagda deeT Fr 9eqor el &
fIT FRIeT F1 fFavor 2
DECKIEEERGIED 3

(i) & IS o8l & 30 YR Thsd & I 3oih [hadR THTAR
gl 3R g & &g e FhoT B a7 | B A harde &
HATedY & ATHA IR B &7 37deilehed A © |
O ARG &l R &od 3R e Jush &1 deat fewr
&t & |

1 1 1
W T
30T O T W gy, 1oooom

1 1 1
e

R = 30cm
AT Fr BihE gl , f = 45cm

1 1 1

[
1 1 1
f, 45 30
f, =-90cm

Ya

Ya

Yo

Ya

Ya

Yo
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33. (a)

(b)

(i) ST hr GRHATT
SSTel dWRES & fAT cIaleh UIed el
(i) (1) TPRIYTHABICIADIFATT R (AT

(2) 9 Jhs 3cTToTd BIelal S T&IT IRSfoIT 1

1
2
1

(i) wrfaeher Rz @ TFecy aioT A gegaisT Fed B
GeIATT m A 1A q & FHUT SART IictsT Soll & & H

Sl &I s
1 5
—mv° =qV

(mv)? =2qVm

mv = /2mqV
csitell T & 3ER
h

A=—
mv

h

J2mqVv

M @
E=hv

=6.63x10* x5x10"
=3.315x107)

1=

)
P
n=—
E

_ 3.315x10°°

T3315x10° 10%s”

Yo

Yo

Y2

Yo

Y2

Y2

Ya

Ya

(i) &R & A

Hx3

(i)  BTSSIolel URAY &1 ndl HaTT H Felarcial & Foll &

fIT STSTHITCT HTAl

(iii) SUTFa SidegfFerdisl 1 aRerele

2
1%
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(1) IR F e

(i)

(ii)

(iii)

fohdll TRATT] 7 HIS gelarelel AR TRl Hensit 7 fafevor
Fol 3catoid T f9ar 9T FT TFhar g

Soldgiel ATAS o TR 3R hdel 3e1 HEMAT H & TRGhATT
AT § 5T & oI ol gaarehr & h/2 &1 quiieh oTeT
gIaT § | ST8r h oolis faadis (= 6.6 x 103 Js) | 3
IReRHT T §U SATCIA HT HIUNT FIT (L) Farfed ¢ |
PIS Seldgiel 3 [ & & 3feaf@a wfaferwol Fam @
cqd foiFT Fait arell el # HPHAUT FX Feohcl © | S TG
THT AT & dl Uk Bicled 3cdiaid gl & Tordehl il IRTHAS
uq 3ifad IaeA3t fr ST F AW & R v Bl

el grsgioe TRy it TAT AT A geAFCT B FA FAl

e2
$7/2- (. (1)
STET o, n¥ e Fr B B
n’h’g,
111 S (2)

(ii)
(1)gegamT &fa |

Am=[6m(sn)+6m(;H) ]-m(:C)

Am = (6x1.008665 + 6x1.007825) —12.000000
Am =0.09894 u
B.E.= Amx931.5MeV

=92.16MeV
Eb

St Foft 9fd sgfFerdrs B A

9216
12
=7.68MeV

Y2

Yo

Yo

Y2

Y2

Ya

Yo

Yo
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2024
SUBJECT NAME PHYSICS [PAPER CODE 55/S/3]
General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them. In class-
X, while evaluating two competency-based questions, please try to understand given
answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. If there is any variation, the same should be zero after delibration
and discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

6 Evaluators will mark( V' ) wherever answer is correct. For wrong answer CROSS ‘X" be
marked. Evaluators will not put right (v)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
9 If a student has attempted an extra question, answer of the question deserving more marks

should be retained and the other answer scored out with a note “Extra Question”.
10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 0-70 (example O to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per
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day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME: PHYSICS(042)
Code: 55/S/3

Q. No. VALUE POINTS/EXPECTED ANSWERS Marks | Total
Marks
SECTION A
(A) The wave is propagating along +x-axis. 1 1
(D) 45° 1 1
(A M<(A-Z)m +Zm, 1 1
B’l?v
4, — 1 1
D) R
5. (B) Behave like a paramagnetic material 1 1
6. (D) first real and then virtual. 1 1
7. (A) 30° 1 1
8. (D) 4 1 1
9. (C) The number of alpha particles undergoing head on collision is small. 1 1
(C) Current
10. 1 1
Intensity
11. (B) increase the number of holes in the valence bond. 1 1
7., 2
12. =V,=-Q 1 1
©3 '3
13 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 1 1
' correct explanation of the Assertion(A).
14 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 1 1

correct explanation of the Assertion(A).
15. (D) Both Assertion (A) and Reason (R) are false. 1 1

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

16. correct explanation of the Assertion(A). . 1
SECTION B
17.
Explanation and formation of terms
Depletion layers 1
Potential barrier 1
During the formation of p-n junction due to the concentration gradient
holes diffuse from p- side to n-side leaving behind an immobile ionized
acceptor (negative charge), hence forming a layer of negative charge
(negative space-charge region) on p- side.
Similarly, a layer of positive charge is developed on the n-side of the 1

junction (positive space-charge region). This space — charge region on
either side of the junction together is known as depletion layer.

Due to the positive space- charge region on the n-side of the junction &
negative space — charge region on the p- side of the junction a potential
difference is developed across the junction of the two regions, which is 9
called potential barrier.

1
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18.

Condition for experiencing no force on electron in
(@) Only magnetic field and justification Yo +Y5
(b) In electric and magnetic field both and justification Yo +Y2

(a) Force on an electron in magnetic field is zero when it moves parallel/
antiparallel to the direction of magnetic field.
F =qvBsing

Hence F =0,when8 =0, =180°

(b) Force is zero when electron moves in a crossed field of electric and
magnetic fields with condition.

Y2

Yo

Y2

F.+F,=0 Yy
E
V=—
B
19 (a)
(i) Calculating e.m.f of cell 1
(i) Calculating internal resistance of cell 1
| . &
R+r
& 2
025=—— ————- @
12+r
& 1/2
02=—"—  ——————— 2
16+r (@)
On solving eq (1) and (2)
r =40 Ya
£=4V 7
OR
(b) — : —
Finding the magnitude of electric field 1%
Finding the direction of electric field Yo

(0,0.3m) [g,=4 uC

£ (o0 4,=3MmC
1

Vi 9}/ (0.3m ,0)
[ g

’Z‘/: __J? Ea

(—1) =3x10°(-1)NC™*

-k a 9x10°x3x10°°
E =) = 2

; 0.3
= k N 9x10°x4x107°
E2 = %(_J) = 2

r, (0.3)

(-}) =4x10°(-j)NC*

Yo

Yo
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Y2

tanf=—
f=tan™" a : o
3 | inclination with respect to the x-axis (in 111 quadrant). 1 2
20.
@) Calculation of critical angle 1
(b) Calculation of radius of circular light patch 1
sini, = 1 1y
(a) 7,
.. 4 5
sini, =— wu=125=—
- (o p 4)
I :Sinl(g) A
or i, =53
.. r - 1
0 T l 2
r‘+h sy Pod
r’ 4\ ’ : -
r2+h? (g) b 5:-1
"
25r% =162 +16h? h=15tm VIFhT
9r? =1600 - —_—
r= 4—3?cm Y 2
21.
e Stating Huygens Principle 1
e Diagram 1

Huygens Principle :

Each point of the wavefront is the source of a secondary disturbance and
the wavelets emanating from these points spread out in all directions with
the speed of the wave. These wavelets emanating from the wavefront are
usually referred to as secondary wavelets and if we draw a common
tangent to all these spheres, we obtain the new position of the wavefront 1
at a later time.

Incident wavefront

Medium 1
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SECTION-C
22, @ . - . .
(1) Variation of electric field and justification Yo+ Y
(if) Variation of current density and justification Y2+ Y
(i) Variation of mobility of electrons and justification Yo+ Y5
Vith the decrease In area of Cross-Section.
I
(i) E= ‘AP, electric field increases Yo+l
o
(ii) I= A , current density increases Yo+l
_er
iy YT m , mobility remains same Yo+l
OR
(b) Finding the net electric field (E) at points A,B & C 1+1+1
. E
Electric field at A( ~*)
E,=E +E, Y,
(o) 2 30
= 2—(— |)+2—(|)
& & "
= o =
E, =—()
)
o E
Electric fieldatB ( ®)
E, = E, +E,
o ~ 30~ o
=—1+—1I
2e, 2¢,
_ 20« 1
o
. E.
Electric fieldat C ( ~¢)
E —E +E,
o 30, - &
= —1+—(-1)
280 280 1
= 2D 3
&y
23. . : :
Calculating electrostatic potential energy of the system 3
Electrostatic potential energy of the system :
Uu = K0, +QV, +0,V, 1
12
kg, _9x10°x10x10° x20x10"° _20] 1,
r, 9x107*
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A 10x107° x2x10°

Yo

ql 1 ql r_l 4)(10_2
A  20x107°x2x10° 1
=q,— = =800J 2
q2 2 q2 r2 5)(10_2
U = (20+500+800)J
U =1320J 72
24. Explanation of (a),(b) and (c) with reason 1+1+1
. de
@ T g
Displacement current is due to changing electric flux.
During charging of capacitor, there is change in electric flux.
When fully charged the electric field does not change hence electric 1
flux also does not change. Hence no displacement current.

(b) The frequency of the microwaves is selected to match the resonant
frequency of water molecules so that energy from the waves is 1
transferred efficiently to the kinetic energy of the molecules.

(c) Infrared waves are also known as heat waves, because water

molecules present in most materials readily absorbs infrared waves and 1
their thermal motion increases and heat up.
25.
Calculating
(a) Work Function 1%
(b) maximum Kinetic energy 1%

(@) g=hy, Yo
=6.63x10"* x1.0x10" 72
=6.63x10"J
=4.14eV Yo

(b) K.E. . =h(v-v,) 1/2

=6.63x10*[3.0x 10* —1.0x10"] &
=13.26x107J
=8.29eV Y
26.
Calculation of e.m.f induced in the loop 3
E.m.f induced in the circular loop: axis
d(o A %)

|5 | Tt W
- %(BACOS@) \}' ’

:%(,uonlAcose)
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dl
= Acosf. —
le] (yon cos dtj

|€| = 4rx1077 ><1OOO><E><1O_4 x c0s60° x

T 07
=6x107° V Ys 3
27.
(a) Finding instantaneous value of current in series combination 1%
(b) Effect of frequency on current and justification 1%
Vv V, sin wt
(a) Current, I=—= L
Z JR*+(X —Xc)?
For the same source of ac voltage and current is same in all the three cases.
R=X_ =X, Y
When L, R and C are joined in series
Z=R Y%
Vv, .
Hence , Instantaneous current, I:Esmcot 1,
(b) If frequency of the source is increased, current in pure resistive circuit
will remain same as ohmic resistance is independent of frequency. y
2
Current in pure inductive circuit will decrease as
X, ocv
s0, | oc1 ez
v
Current in pure capacitive circuit will increase as
lcv Y 3
28.

[

(a) Draw the intensity distributions current
(b) Deriving the relative for power of combination of two lenses 2

(@)

W S|
bl et Viewdng serecn

(b)

Yo

For the image formed by first lens A, we get
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1 1 1

SC=2 0
v, u f
For the image formed by the second lens B, we get
1 1 1
e
v v, f,
Adding egs (1) and (2) we get
i_£=£+i ____(3)

v u f f
If the two lens system is regarded as equivalent to a single lens of focal
length f, we have

Yo

Yo

11 1
e )
v u f
Fromegs (3) & (4)
1 1 1
_ = —
fof f
As, P :l
f
Hence, P=P+P, Y5
SECTION-D
29. (A) Bronly 1
@ (i) (B) A, C 1
OR
(b) | (C) unidirectional with ripple
(iii) (D) holes, electrons 1
(iv) (C) 100 Hz 1
(i) (C) 2
(iii) (A)2.5x10° Nm 1
1 1
a il
(a) i) (© 5"
OR
-3 2
(b) ®) 5.0x10°Am
SECTION - E
31. (a)

0] Labelled diagram of ac generator
Working of ac generator
Obtaining expression for e.m.f

(i) Finding magnitude of force and direction

N R P
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(b)

‘

Axle

Coil -~

Alternating emf

Carbon
brushes

Working of ac generator

When coil is rotated in a uniform magnetic field with a constant angular
speed o, magnetic flux through it changes. As a result, an e.m.f is induced
in the coil.

Flux linked with the coil at any instant ‘t’ is

¢, = BAcosat
E = —N%
dt

¢ = NBAwsinwt

AN
M "7 Tomr
force on arm MN of the loop
B 47 x107 x3x1x10x107?
- 27%x20x1072
F = 3x107 N
Force is directed away from the wire
Force on arm SP of the loop
B A7 x107" x3x1x10x1072
- 27x30%x107
F, = 2x107 N
Force directed towards the wire
Net force on the loop
F=FK-F =10" N
Net force on the loop is away from the wire.

Fl

F,

OR

(i) Statement of Faraday’s law of electromagnetic induction %
Utility of Lenz’s law Yo
Obtaining expression for self inductance

(ii) (1) calculating angular frequency
(2) calculating impedance of the circuit

RN

(i) The magnitude of induced e.m.f in a circuit is equal to the time rate of
change of magnetic flux through the circuit
Utility of Lenz’s law
It give polarity of the induced e.m.f.

Yo

Y2

Ya

Ya

Yo
Yo

Yo

Yo
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Expression for self inductance
Consider a long solenoid of cross-sectional area A and length I, having
n turns per unit length. If I is the current flowing in the solenoid,
magnetic field inside the solenoids is
B = gl Yo
Total magnetic flux linked with the solenoid is
Nepg = (nh)(z4n1)(A)

Np, = un°All Yy
Self inductance
L — N¢B
I
1
L = gnAl %
If solenoid is filled with a material of relative permeability | then
L = uun’Al 2
(i) (1) Resonant angular frequency is
[0) = i 1/2
° e
1
@, ! = 500 rads™ &

~ /50x107 x80x10~°
(2) When frequency of supply is equal to natural frequency of the

circuit )
Z =R %)
32.3) (i) Two main considerations for designing objective and eye piece 1
Obtaining expression for magnifying power of telescope 2
(i) Calculating
(1) Angle of deviation 1
(2) Refractive index 1

Two main considerations
Obijective should have Ya
1. Larger diameter
2. Larger focal length
Eye piece should have
1. Smaller diameter

2. Smaller focal length Y2
—_ Objective .!_'—-"u—'l Eyepiece
TR s
i [o ‘ : [ ""
= 0—-.ah-.,_,:‘:_j:\:‘i\ E ‘/5}" ’_,@ 1
- S

.
L w

Magnifying power of telescope
Magnifying power is the ratio of the angle  subtended at the eye by the
final images to the angle o which the object subtends at the lens or eye
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(b)

a f, h f
(i) i+e =D+A
at D=D, , i=¢e
2i=D,+A
2 x45=D,_ +60°
D, =30°

, (A+ij
Sin
~ 2
e
SIn| —
2
. [60°+30°j
sin| ——
2

#= .[60(’)
SIn| —
2

_2

OR

(i) Describing activity to observe diffraction pattern
due to a single slit
(i) Finding refractive index of the liquid

N

(i) We hold two razor blades in such a way that their edges are parallel
and with a narrow slit in between. Keep the slit parallel to the 2

filament of electric bulb, right in front of the eye.
A diffraction is seen with its bright and dark bands.

1 1 1
.. = (u-1)| =———
Gy o ){Rl Rj
Focal length of convex lens,
i=(1.5—1) i1
30 R (-R)

R = 30cm

focal length of combination, f = 45 cm
focal length of plane concave lens of liquid.

f,=30cm

1 1 1

[
1 1 1
f, 45 30
f, =-90cm

Using lens maker’s formula

) 1]

Ya

Ya

Ya

Ya

Yo
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33.(a)

(i) Defining matter waves
Obtaining expression for de- Broglie wavelength
(i) (1) Calculating energy of photon
(2) Calculating number of photons per second

R RN

(i) Wave associated with a mass in motion is called matter wave. 1
Particle of mass m and charge g gains energy in the form of kinetic
energy.

%mv2 =qV &

(mv)? =2qVm

mv = ~/2mqV Yo

Accordingly to de-Broglie relation .
h 2

A=—

mv

h ez

J2mqVv

(i) @ "
E=hv

=6.63x10* x5x10" 1
=3.315x10")

1=

)

P Ya
n=—
E

_3315x10° _ s v,

3.315x107*°
OR

(b)

(i) Bohr’s postulates Y2x 3
Deriving expression for energy of electron in n' orbit of
hydrogen atom 2

(i) Calculating Binding Energy per nucleon 1%

(i)

Bohr’s Postulates
(a) Bohr’s first postulate was that an electron in an atom could revolve Ya
in certain stable orbits without the emission of radiant energy,

(b) Bohr’s second postulate defines these stable orbits. This postulate
states that the electron revolves around the nucleus only in those Ya
orbits for which the angular momentum is some integral multiple of
h/2 = where h is the Planck’s constant.
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(c) Bohr’s third postulate states that an electron might make a transition
from one of its specified non-radiating orbits to another of lower energy. Ya
When it does so, a photon is emitted having energy equal to the energy
difference between the initial and final states.

Derivation
Total energy of electron in the stationary state of hydrogen
atoms is
eZ
T 8rg,r, ~TTTTTTTTT T ) &
Where ry is radius of n'" orbit
n’h’e,
" gme? mmmmmemmmmmmmemeees (2) Y

Substituting eq (2) ineq (1)

me*

S = g 1
(if)
Mass defect, M= [6 m(gn) -+ 6m(11H)]—m(162C) 1
Am = (6x1.008665 + 6x1.007825) —12.000000
Am =0.09894 u
B.E.= Amx931.5MeV

=92.16MeV

Yo

E_ = E,
Binding energy per nucleon, ™~ A
9216
12
=7.68MeV
% 5

12
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